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Which number replaces the auestion mark?

7 3 6 2

Which letter replaces the question mark?

Look at this series: 2, 1, (1/2), (1/4), ... What number should come next?

A, (1/3) B. (1/8)

C. (2/8) D. (1/16)

Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A. 7 B. 10

C. 12 D. 13




Look at this series: 53, 53, 40, 40, 27, 27, ... What number should come next?

A. 12 B. 14

C. 27 D. 53

Look at this series: 1.5, 2.3, 3.1, 3.9, ... What number should come next?

A. 4.2 B. 4.4

C. 4.7 D. 5.1

Each question has an underlined word followed by four answer choices. You will choose the
word that is a necessary part of the underlined word.

1. harvest
A. autumn B. stockpile
C. tractor D. crop
desert
A. cactus B. arid

C. oasis D. flat




Advance logical reasoning

1.
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: Answer Figures:
A (B (©) (D) “m @ 6 @ 6
1
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2.
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: Answer Figures:
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3.
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: Answer Figures:
A B (©) (D @ @ 6 @ O
1
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Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:
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5.
Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:
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Water images questions

Choose the alternative which is closely resembles the water-image of the given
combination.

NUCLEAR

(1) BYEMCUM (2) MNCIEVYH
(3) WUCT 3vE (4) MNCT EVE
1

2

3

4

2

Choose the alternative which is closely resembles the water-image of the given
combination.
bridge
(1) priqde (2) priqdse
(3) pr1qde (4) pL1pde

1

2
3
4

3.

Choose the alternative which is closely resembles the water-image of the given
combination.

GRO98BAPT76ES

(1) CE68YbLAYE?R (2) CHO8VYbAYE®R

(3) CKaB8VbARGE®S (4) CEKBBAbARES

1
2
3
4

4.

Choose the alternative which is closely resembles the water-image of the given
combination.

A1M3b

(1) VIW3P (2) VIN3P

(3) VIW3P (4) YINWEP

1
2
3



5.

Choose the alternative which is closely resembles the water-image of the given
combination.

E8t4e9C

(1) 38149€D (2) EB1h2RD

(3)381I¥96C (4) EBItE3C

1
2
3
4
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